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- Example 5:

The cost C of producing x items varies directly- as X.
If it costs $282.20 to produce 340 1tems, what 1s C

when x=8007?

Example 6

Boyle's Law: The pressure P of a compressed gas 1s
inversely proportional to the volume V. If there1s a
pressure of 25 lbs per square inch when the volume

~of gas is 400 cubic inches. Find the pressure when
the gas is compressed to 200 cubic inches.



Example 7

The resistance R varies directly as the length L and
inversely as the square of the diameter d. Ifa wirc 80
feet long with a diameter 0.5 inches has a resistance

of 120 ohms, how much resistance will there be it

only 16 feet of wire 18 used?
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Rational Inequalities

1. Put it in Standard form, < = <or>,0
2. Common denominator

3. If denominator # 0, always an open dot

Solutions from num. depend on problemb
inequalities.

a) <= : Closed Dot
b) <> :Open Dot

4. Choose points (numbers) between dots:
-Substitute into original inequality

a) True: Shade
b) False: Don't Shade

5. Interval Notation: from graph
a)-cooro:( )
b)opendot:( )
c)closeddot: [ ]
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